
SCAN HERE TO LEARN MORE ABOUT THIS MACHINE

WANT TO KNOW MORE
ABOUT THIS MACHINE?

MTD22 SPARE PARTS
MANUAL TOP & BOTTOM DRIVE DUAL MAST SEALER

2" Spare Parts Kit Part#: MTD22SK

QUANTITY PART NUMBER DESCRIPTION

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

4

2

1

1

2

2

2

1

1

4

N136.AC

27280031

14015

14037

AC231300

10122

AC232000

10096-1

10096-2

10117

Belt, 1340mm x 2" Black

Bearing, Ball 6003ZZ

Sprocket, Drive RS35x12T S15.875

Sprocket, Follwer RS35x12T

Roller, Rubber Front 2"

Blade, Cutter 2"

Roller, Rubber Rear 2"

Spring, Main (Top)

Spring, Main (Bottom) Chrome

Bumper, Rubber M15x7

4 10116 Bushing, Bumper M8x7

VERSION 4.0_0624WWW.BESTPACK.COM

© 2024 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



SCAN HERE TO LEARN MORE ABOUT THIS MACHINE

WANT TO KNOW MORE
ABOUT THIS MACHINE?

MTD22 SPARE PARTS
MANUAL TOP & BOTTOM DRIVE DUAL MAST SEALER

3" Spare Parts Kit Part#: MTD22SK-0

QUANTITY PART NUMBER DESCRIPTION

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

4

2

1

1

2

2

2

1

1

4

N136.AC

27280031

14015

14037

AC331300

10122-0

AC332000

10096-1

10096-2

10117

Belt, 1340mm x 2" Black

Bearing, Ball 6003ZZ

Sprocket, Drive RS35x12T S15.875

Sprocket, Follwer RS35x12T

Roller, Rubber Front 3"

Blade, Cutter 3"

Roller, Rubber Rear 3"

Spring, Main (Top)

Spring, Main (Bottom) Chrome

Bumper, Rubber M15x7

4 10116 Bushing, Bumper M8x7

VERSION 4.0_0624WWW.BESTPACK.COM

© 2024 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.


